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Problem #6
Assume value of a eax, and lue of b i zelbx
Write x86 assembly de for
if (a > Db) ly
‘/o ebX > %m | oK)
} A0

Problem #7
A m il: £ >eax d value of b is in %e¢bx
i 86 mbly de for: ] >
if (a b) { N
eree | CW‘FR '/"atxz - tox //,
b = a; rd Vm %
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Problem #8 ’ I
Assume value of a nd v of ebx
Write x86 assembly ode f \ DY{L (y
while (b>0){ \O{)f
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Condition codes: new bits in hidden $%$eflags register.

Some instructions set those bits based on comparisons:
cmp, test

Other instructions change control flow (%eip) based on results:
Jmp family

INSTRUCTION: cmpl B, A
computes A-B (but doesn’t put result anywhere)
condition codes (incomplete) :

zero flag : ZF=1 if (A-B) == otherwise ZF=0
signed flag : SF=1 if (A-B) < 0 otherwise SF=0

INSTRUCTION: jmp TARGET flways changes %eip to TARGET

INSTRUCTION: je TARGET %eip=TARGET if ZF==

INSTRUCTION: jne TARGET Seip=TARGET if ZF== 0O —
F

INSTRUCTION: jg TARGET $eip=TARGET l(f(\) SF/\O

INSTRUCTION: jge TARGET $eip=TARGET if
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INSTRUCTION: jl TARGET $eip=TARGET if 5’:"'
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INSTRUCTION: jle TARGET $eip=TARGET if < gl =




